-(A-B)

@ -A+B

D A+ (-B) =B+ (-A)

@ -A-B=-A+(-B)

® A+ (-B) = (-B)+ A

® -A+B=-B+A



2.

the FolA At Fut o sht?

@ (+4) +(-7) @ (-7) - (-4)
@ (-1)+(-2) ® 0+ (-3)
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8. 1 oA oW fel5 o Mok she ekl 0 o)A MY 1

of HAtt. vEA ALt AS A1=w?

o-2 o-, 0-7 o-7 o-3
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ol 7V ke

5

of 7V 7Vt A4E a,
a~+b 2 327
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10. Hes AN ger &2 e 12d?

(_1)2009 X (_1)2010 + (_110) X (110>

O -2 @ -1 ® 0




